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ANNUAL EXAMINATION 2/2018
CLASS : XI
SUBJECT : PHYSICS (SET-I)

" Time : 3 Hrs. M.M.: 70

General Instructions :

(i)
(ii)

(iii)

(iv)

{x)

{vi)

(wii)

{viii]

v

Ql.

Q2.

All questions are compulsory.

There is no overall choice, however, an internal choice
is given in one question of 2 marks, one question of 3
marks and in all questions of five marks.

The paper consists of 26 guestions,

Question number 1-5 are very short answer questions
carrying one mark each.

Question number 6-10 are short answer guesiions
carrying two marks each.

Question number 11-22 are also shori answer
guestions carrying three marks each.

Guestion number 23 is g value based question carrying
4 marks,

Question number 24-25 are long answer giiestions
carrying five marks edach. :

You may use the following constants :
G=68x 10" Nm? kg?
SECTION-A

Two equal forees have their resultant equal Lo either. Find
the angle between them.

What is the dislance hetween two points in a wave having
a phase difference of 2x?

Draw a graph between P and }{ for an ideal gas at
constani tempearature.

(1)



Q6.

Q7.

Q8.

Qo.

Q10

The material with which two planets are made is SameC.
What is the dependence of g on (e radius of the planets?
If the acceleration of a particle is constant in magrude
bul its direction changes continuously, then whal type ol
path does the body follow?

SECTION-B

If P is power, t is time and x is distance, then find the

2

b=
at

dimensions of a and b from the relation : F=

A car Lravels a length [ with speed v, and returns hack (o
the same point with speed v, Find (a) average speed
(b) average velocity.

A body of mass 0.5kg travels is a straight line with velocity.

3/

p=ax’* wherealisa constant, What i8 the work done 011

{he object during its displacement from x = 0 lo x=2m?
The amptitude of & oscillating simple pendulum is doubled.
What will be the effect on the (i) time period (i) tfolal energy?

Give reason for your ATISWETS.

A heat engine operates betwecn 500K and 400K 1f it
absorbs B % 10° cal heat at higher (emperature. then [ind
the work done by the engine in one cycle.
OR
P-V diagram for a cyclic process 18 ABC as shown. Calculate
the work done during the process [rom @AtB®C
to A
¢
(fa)

=1 A

sy (m*)

|
]



SECTION-C

Q11 Wrile the g 1. units of torque.

A 10m long ladder of mass Sk stands against a [rictionless
wall. The fool of the ladder is Bm away from the wall. Find

* {he force of friction Detweel finor and the ladder and the
aormal reaction from {he wall and the floor.

Q12. (a A ball of mass 1504 15 ihrown towards & wall with a
speed of 18 m/s as shown. It reflects hack from the
wall with same speed.- Find the force exeried by the
wall on the ball il the pall remains in contact with
the wall for 0.013 seconds.

b) Siate the law of conservation of linear momenturnt.

Qls. (@) &S shown in the fisure, water flows from P io Q.

Explain, why height h, of column AB of waler is

greater than height b, of columu CD of water.

'




1 glass surface tend 10 spread while

15)] Water o1 & cleat
rlace leil

mercury 81 the same U

why?

ds to form i P05

speed Lrom the st irface
The radiusef garth is
what will he

ion for fhe escape
M and radius R.
5 remaining satne-
the escape velocily?

ojected with velocity v at un angle 8

Q15 @ A projectile is Pt
with the norizontal direction. Find its time of flight
\

and horizontal Tange-
nee of projection ofa projeciile for Lwo T
and B 15 same v B=00"

Ol4 Obtain an expIress

of-a planet of mass
d by 4%, its mas
nge in

reduce
the percentast cha

by Show that ra
angles of projection @ 3
OR l
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o vectors & }

(@) Find a unit vector pex'pcncﬁcular o th

!
k
l
i

and B, where A=id _;vh and B c2i-]+ 3k .
L 15 A 0= B A? Justily yout answer.
Q6. (@ The Youngs modulus of a wire of length I and radius }
/2 and radius /2. l

rigY. 1fthe length is redyeed 10

what will be its young s Mo dujus?

1) The stress-sirain praphs for tWO materials A and B

arc as showil

1) Which maferial has grealer Youngs marlulus?‘;

(if) Which material is MOIE ductile?
B
lg
_
o
< fted

(4)



Q17
g

Ql8.

Q19.

Q21

Q22

(a) The earth wilhout its atmosphere would be
inhospitably cold. Why?

() 2kg water at 80°C is mixed with kg water at S0P
Assuming no heal loss (o the surroundings. [ind the
final temperature of the mixture.

fA-12.0+0lcmand B=80£0.0cm. Find percentage

errorin (a) A+ B (D) Ax B.

(a) Aninclined planc hag ils top most point at a height
h. Prove that the work done to hring a mass 0 ihe
ground level either vertically or along the smooth
inclined surface is equal and its value is mgh.

) A block of mass M moving al speed u collides with
another block of mass 2m at rest. Alter collision.
{he lghter block (urns back with half its initial speed
and the heavier block remains af rest. Find the
coefficient of restitution.

(a) Check whether ihe following funciions represent

SHM .

(1) x=acoswt+b sinmt

(i) x=acoswl+a cos2mt
()  Find the ime taken by a particle to move from-A/2

to A/2 ina SHM represented by x=A sintl.
Define an adiabatic process. Derive an expression [0 work
done during an adiabatic process. An ideal gas at 200K
gxpands adigbatically so as o increasc its volume fo
g times Lhe initial volume. Find its final temperature; if
No= o2
A body moving with uniform acceleration has a velocily of
95 m/s after 4 time of 03 from the start; and its velocity 88

after the startis 34 m/s. Find the wistance covered by the

body in 10" second.

(B)



Q23.

Q25.

SECTION-D

Raju had seen his mother grinding flour in the grindsitne
since his childhood. He felt very helpless as his mother
had to putinalot of effort. As he grew older, he thought of
an idea and connecied a amall electric motor to the wheels
of the grindstone. Now il becamé casier to get flour and
Rajur's mother was very happy and felt proud of her son.
()  What does his show ahout Raju?
(i) A grinding stone of radius 2m revalving at 120 rpm
accelerates to 660 rpm in 9 seconds. Find the angular
scceleration and linear accelerafion.

SECTION-E

{a) Discuss the formalion ol stationary waves in

stretched strings, Show thal in a stretched string,
{he first four harmonics are in the ratio 1:2:3:4.

(b) A tuning fork produces 4 beats/sec with 4 wire
ascillating at a frequency of 73 Hz. If the length of
the wire is shortend then 5 beats are heard in a
second. Find the frequency of the funing fork.

OR

(a)  Exdain Doppler effcctin sound.

(b) Find the velocity of source, when the frequency
appears to be double (he original frequency o a
stationary listener.

() Wriic (be factors on which speed of sound waves
depens.

Define terminal velocily- Why does a sphere atfaing this

yelacity? Derive an expreasion [ur the terounal veleeity

Plot u-t and a-t graphs for a small spherical body fallind 12

a viseous liquid.

OR
©
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(a) Show that for curved liquid surface in equilibrium,
the concave side has more pressure than convex side.

(b} Explain capillary action using oxeess pressurt.

(@) Waler riscs uplo a height of 10¢m in a cerfain
capillary tube. The Jivel of mercury falls by 3.5em
in the same capillary tube. Find the radio of
surface tension of wafer and mercury. Given
IH,0 =1 g/em’. Hg = 12,6 g/em’ angle of contaci
for water = 0° and for mercury = 135°.

Why are curved roads banked? Obfain an expression lor

ihe speed with which a vehicle of mass M can take a turn

on a rough banked road.
OR

DiS’[ng’uiSh hetween static, imitng and kinetic [riction.
A 70 kg man stands in confact against the innNer wall of &
cylinderical drumm of radius 3m rotating about a verlical
axis at 200 rev/min. The cocfficient of [riction between
the wall and the man i8 0 15. What is the minimum
rolutional speed of the drum to enable the man to remain
stuck to the wall?

(7)
























ANNUAL EXAMINATION 2/2018
CLASS : X1

SUBJECT : COMPUTER SCIENCE (BET-I)
Time : 3 Hrs.

General Instryctions -
(' All the questions are compulsory,
{ii} Programming language: C++

QL (a

(b)
(c)

(d)

(n
Q2. [a)

Distinguish between High Level Language and Low
Level Language (1)
() Describe the term open source software, (1)
() Explain any two Lypes of bus. (2)
Convert the following - (3)
(i) (92473),, to artal.

(i (10101101 01), io hexadecimal.

(i) (3567), to binary.

Find the 8 bits twoa's complement form of the

following decimal number. (1
-87
Whatis a re;:-}l time operating system? (1)
Name two main types ol cache memory. (1)
(] What do you mean by encapsulation? Explain
with an example. (2)
(i) What{s Inheritance? Explain with uy example,
(2)
{) Draw a flow chart to find the largesi of three
glven numbers, (2]
(i)  Identify the following as valid or fnvalid
variable. Alsg give reason [or each. (1)
(hl) Struct * (B2) int
(b3) Adno. (b4) 11B



03,

04.

()

(b)

(b)

Write the loop part to print the following : (2)
b b 15 5 LSy

4 4 4

3 3 :

2

e e Y of v RN -

What is the differerice between / and % operator. {1)
Write a program to compuie simple interest. (2)
Write the declaration of the following :  (1+142=4)
(i) a constant integer variable ‘¢’ with value 100,
(ii) aarray ‘a’ consist of 10 float numbers.

(iii) a product structure that holds product

number, name, price and quantity.
Explain (he [ollowing data types with an example :

(i} IFloat (if) Reference (3)
(iii) Enumerator
What is the use of goto statement? (1)

Write a program to input n numbers and to arrange
all numbers in descending orders. (3
#inclhide<instream h» (2+2=4)
void main() i
[ int sum=0;

for(int i=2; i<=20; i+=9)

[ cout<lz<s

sum-+=i;
}

coutc<"\nSUM="c<sumn;

}

(i)  Convert the above program using while loop.
{i)  Wrile the output of the above code and explain.

- Go through the C++ code shown below, and lind out

the possible outpul or cutputs from the sugdesied

(<)



o

1

R

Output Options (i) to (iv]). Also, write the least value
and highest value, which can be assigned to the

variable Guess. (2)

()
(i)

#include<iostream. h>
#include<stdlib. h=
void main( )
{
randomize( );
nt Guess, High=4;
Guess=random(High)+50;
for (int C=Guess; Cg=00; C++)
coulccCec 8™
]
50 # 5l #D2#b31bd#bbi

22#03#044 055

(ii) 53#54#

(i)

51 #52 #B3 #54 # 55

What is the purpose of # define? (1)

Wr

ite the names of the header files, which is/are

essentiallv required to run/execule the following C++

code : (2)

2

void main( )

{

char C, Siring[ | = “Excellence Overload”;
int len-strlen(String);
cout<esgri{len);

for (int 1=0; I<len; 1++)

if (Stringfl] =)

cout<<endl;

else.

{
C=tolower(String[l]);cout<<C;
| .

}

(3 '



ge.

Q7.

(b)

(b)

Explain the following with an example. (4
(i) Logical Errors (i)  File scape
(iii) Comments (iv) Ifcrative statcment

Write a function {o pass a number and to check
whether the number is prime or not. If prime return

one, otherwise zero. (3)
What is actual parameter? (1)
Write a program fo print the [ollowing Fibonacel
series. (3)

021,123,508, I Tslens
Write a program to input any malrix antl to display

sum of row elements of the matrix. (3)
Write a program to implement reverse the array
withoul using temporary array. (3)
What is the purpose of sizeof operator? =)

Wrile a program to create the structure to represent
distance (feet and inches) and implement the
following : (4)
(1) To add two distances.
(i)  Difference between distances.
Give the output of the following program : (3)
#include<iostream.h> ‘
struct pixel
It G T
h
void display (pixel p)
“i
cout<<"Column="<<p.cx<"Row="z<p.1;
2,
void main( )
[ pixel x={150, 200}, y, z

Z=X;

(4)



- (2)

!

(d]

Z.o+=h();
y=a
y.e=320;
Xr+=100;
r.r+=5b0;
display(x):
display(y):
diaplay(z);
]

Give the oulpul of the following program segment
(Assuming all required header files are included in
the program) : (2)

#include<ipstream. hs
finclude<<ctype. >
void main( )
[
char Mystring| |="what@ANIDea!™
for(int 1=0; Mystring [I] | = "\Q"; l++)
{
if(tisalpha (Mystring|l])
Mystring[,ljf‘é‘f;
clse if(islower (Mystringll]))
Mystring(l]=Mystring[l]+1;
clse
Mystring[l]=Mystring|[l+1];
}
cout<<Mysiring;
]

Write any two characteristics of goad program, (1)



ANNUAL EXAMINATION 2/2018
CLASS : XI
SUBJECT : BIOLOGY

Time : 3 hrs. MM.:70

General Instructions !

(i)
{ii)
(iii)

liv)

(v

(i)

(wit)

al.

Q.

Q5.

There are a total of 26 guestions and 5 sections in
the question paper. All questions are compulsory.

‘Section-A contains guestion number 1 to 5, very short

answer type questions of one mark each.
Section-B contains question number G to 10. short
answer type-l guestions of 2 marks each.
Section-C contains question number 11 to 22, short
answer typc Il guestions of 3 marks each.
Section-D contains question number 23, value based
question of 4 marks.
Section E contains guestion number 24 io 26, long
answer type ciuestigns of 5 marks each.
Thc}‘_e iz no overall choice in the question paper
however, an internal choeice is provided in ane question
of 2 marks, one question of 3 marks and all the three
guestions of 5 marks. An exaniinee is to attempt any
one of the guestions oul of the twe given in the
questicn paper with the same question numier.

_ SECTION-A
Name an animal which exhibits the phenomsnon of
biOlLllilliHEESCEI‘IC& Mention the phylum to which it belongs.

(1)
F, - F, parlicles participate in (he Synﬂwsis of a malecule
3 Identify X (1

Wrile the appropriate type of animal Ussuzs in column B
according to the functions mentioned in column A (1)

{1

L]



Column A : Column B
(a)  Protective covering (i)
(b}  Linking and supporting framework (i) GE

Q4. Name the enzyme that digests fat. Give the end product of

fat digestion. ' (1)
Q5. Slate the difference hetween centriole and cilia with respect
to the tubular arrangement. (1) ¢
SECTION-B '

06. A plant may have different names in different regions of

the country or world. How do botanists solve this problem?

(2)
" Q7. Where is the casparian strip located inthe plants? Explain
its role-in water movement. 2)
- OR
What is commen Lo Nepenthes Utricularia and Drosera
with regard to mode of nutrition? (2)
()%. How does gaseous exchange take place across the capillaries
(2)

lining the human lungs.
(9. Epidermal cells are often modified to perform specialised
functions in plants. Name any two such structures and

mention the function they perform. . 2]
Q10. How are ligases different from lyases. (2)
SECTION-C !

QL1 (a) With the ‘Qﬂp of a-diagr.am describe the haplo-
diplontic life eyele patiern ol & plaul group.

(b)  Mannitalis the reserve loud material in which group

of i;zlgae, : 3)

Q12. ()  Describe vexillary aestivation along with a diagram.

(0] When are stamens described as epipetalous? (8]

(2)



a

(Q13. Explain an ECG with the help of a diagram. (3}
()14, Give the biochemical compasition of plasma membrane.

How are 1ts different constituent molecules arranged in the
membrane? : (3)

Q15. (&) What is the composition of the neurosensory layer ofan
eye.,

(h)What connects the middle ear cavity with the pharyn, state
its function

(c)State thesfinction of Medulla and hypothalamus. (3)-

Q1e6. Name the three suhstages of Interphase and describe the

- evenlsin each of them. (3]
Q17. Endomenibrane stictures form i portant part of all cells.
" Name any two cndomembmné strurcturcs found 1n cells
and state the function performed by them (3
Ql8. (a) Enlist the conditions thal ure essential for the growth
: ‘bf a plant. :
(b)  What is arithmetic growth? ' (3)
Q19.. (@) Name the respective mineral nutrient, that - :
{ ' [orms the core constituent of the fiﬂg structure
_l of chloraphyll.
(1)  forms the -:Dhlpdnent af nitrog’cnase.
(i) Synthesfses middle l_amlelia of plant cells.
: (iv) is'ir._wol.ved in phasphorylation reactions.
,; (b) Mention any two common symploms of mineral
' deficiencies in planits. e (3)

3.



g20.

W)
o
y—

Q23.

‘024

(a)  Photorespiration is a wasteful process. Give reason.

(b)  Explain the adaptive mechanism in maize and
sorghum to avoid pholorespiration. (2)

. Explain the mechanism of urine formation in humans.

OR

Explain the [ollowing events of & cardiac cycle.

()  Atrial Systole (i)  Ventricular Sysiole

(iii) ~ Ventricular Diastole (3)
- Write the functions of the following hormones in human

body : ‘

(@) LH (b) . Glucagen

(¢} Vasopressin . (3)

SECTION-D
sneha suffers [rom blood pressure and her docior advised
her to start medication to control her blood pressure, but
she is reluetant (o take medicines Her friend, Lakshita

_Lries to convince her to take the medicine.

(a) Mention the normal blood pressure of a healthjf

person.

(b)  Which organs can be affected due io ‘high blood

pressure? (Name any (wo organs),
(c)  What values do you ubserve in Lakshita® Write any
two values, - o v (4)
SECTION-E |
How does the mechanism of musele contraction tale place
in humans? Explain.
OR

(@)  Draw a well labelled diagram to show Lhe L.S. of

- human kidney.

4)

lr



(byDescribe the location of juxtaglomerular apparatus in human
kidney.Explain its excretory and hormonal role. (5)

(325, (a)Draw a neul labeled diagram of the vertical section of &
maize grali.

i (b) Based on the position of calyx, corolla and androecium
! with respect to ovary on thalamus, flowers are classified nto

three categories Name and deseribe them.

OR
f (a) Give the structural and functional differences
: between parenchyma and collenchyma.
(b) What are conjoint and radial vascular bundles?
‘ Where are they found? . _
? (¢) Name the type of tissue that are the cause ol
';-';' grittiness in pulp of pear. . (3)
Q26."(a) -Describe the process of nodule i'm, mation in roots of
: 4 leguminous plan(s.
f {b] In most plants the terminal bud suppresses the
it development of lateral buds. What is this
o phenomenon called? Name one phylohormo‘ e ﬂ‘zat
can promote this :;héno'nm,un
{a})  [Explain the process of cyelic photophusphmrjila(ion. :
i (b}  Whatis the role of oxygen in {he process of af.érahic

respiration.

(c) Give the complete energy analysis from TCA.  (5)

3]









(b)  Explain why the bond angle in NH, is greater (han

'S that of H,0?

(©)  HF is more polar than HI. Explain.

Q13. (@  Asample of gas oceupies 12.5 litre under a pressure

Ql4.

Q15.

Q16.

Q17.

of 1.5 atmosphere. What will he its volume if the
pressure is inereased Lo 3.5 almosphere? Assume
that the temperature of the gas sample does not
change,
(b)  How is the pressure of o das in a mixture related to
the total pressure of the mix{ure?
OR
2.9¢ of gas ar 95°C occupied the same volume as Q. 184¢
of diliydrogen al 17°C at the same pressure. What is molar
mass of the gas?
Balance the following redox reaction in acidic medium :
MnO, + C,0,% — Mu® + Co,
For the reaction ; 2A (g) + B () ——2D (g)
AU® = -10.5 KJ and AS® = -44,1 JK-! mo]-!

Caleulate AG® for the reaction and prediet whether the

reaction may occur spontaneously or nol.

()  What is coul gasification? How can the production
of dihydrogen, obtained [rom ‘coal gdasification’, be
increased?

(h) Do you expect the ecarbon hydrides of the type
(C Hy,.0) Lo act as ‘Lewis acid or base? Justify your
answer,

Give reasons for the following :

() Beryllium and magnesium de nol give colour to the
flame whereas other alkaline earth metals do so.

(1)  Lithium salts are comuonly hydrated and those of
other alkali metal ions are usually anhydrous.

(3)



Q19.

Q20.

Q21.

Q22.

Q23

(i) BeO is insoluble but Be50, is soluble in water.

. Explain the following reactions. giving suitable(;jcample
of each :

()  Wurtz Reaction

({) Markovnikov's addition

(i) Friedal-Crafts alkylaiion

What happens when :

(i)  Boric acid is added o water

() Aluminium is treated with dil. NaOH

(iii) Diborane is treated with ammonia.

Account for the following

) Boron trihalides act as Lewls acids

)  Aluminium wire is used to malke transmission cables

(i) Atomic radius of gallium (135 pm) is less than that
of aluminium (143 pm)

(@ Which is more acidic : ethene ar cthyne? Also give
reason for your answer.

) In sulphur estimation 0. 157g of an organic
compound gave 0.4813¢ of barium sulphate. What |
is the percentage of sulphur in the compound? (Given
atomic mass of Ba = 137¢, 5=328. 0 = 16g)

(@ Draw the shape of XeF, molecule on the basis of
VSEPRR theory.

(o) Write the molecular orbital configuration of OZ.

Calculate its hond order and predict its magnetic |

hehaviour.
Mrs. Sharma disposes ofl domestic wastes in MCD

dustbins. She puts biodegradable wastes n a separate |

* qustbin and non biodegradable in other dustbin. Mrs, |
Verma throws away all types of wastes outside her house
which create lot of problems for other residents.

(4)









